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Biuro projektowo-usługowe
             
        Łukasz Włudyka
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Istniejący pion
wody zimnej St25 mm
-do likwidacji

Istniejący pion
wody zimnej St20 mm
-do likwidacji

Istniejąca instalacja
wody zimnej St20 mm
-do likwidacji

Istniejący pion
wody zimnej St25 mm
-posostawić Istniejący pion

wody zimnej St32 mm
-do likwidacji

Istniejąca instalacja
wody zimnej St15 mm
-do likwidacji

Istniejąca instalacja
wody zimnej St15 mm
-pozostawić Istniejąca instalacja

wody zimnej St15 mm
-do likwidacji

UWAGA!!!
- Wodomierze mieszkaniowe
  i w WC do wymiany.


